#### Contract Sheet Bid 18-069

# THE STATE OF TEXAS COUNTY OF FORT BEND

This memorandum of agreement made and entered into on the 29 day of 404, 2018, by and between Fort Bend County in the State of Texas (hereinafter designated County), acting herein by County Judge Robert Hebert, by virtue of an order of Fort Bend County Commissioners Court, and Algood Construction Co. Trc. (company name)

#### WITNESSETH:

The Contractor and the County agree that the bid and specifications for the Construction of Improvements to Gaston Road from Katy Flewellen Road to Greenbusch Road which are hereto attached and made a part hereof, together with this instrument and the bond (when required) shall constitute the full agreement and contract between parties and for furnishing the items set out and described; the County agrees to pay the prices stipulated in the accepted bid.

It is further agreed that this contract shall not become binding or effective until signed by the parties hereto and a purchase order authorizing the items desired has been issued.

Executed at Richmond, Texas this 29 day of Nay 20 18

Fort Bend County, Texas

Grady Prestage, Commissioner, Precinct 2
Presiding Officer of Commissioners Court, June 12, 2018

Signature of Contractor

By: Sterling Moore President
Printed Name and Title



## COUNTY PURCHASING AGENT Fort Bend County, Texas

# **Vendor Information**

Debbie Kaminski, CPPB County Purchasing Agent Office (281) 341-8640

Legal Company Name (top line of W9)	Allgood Construction Co., Inc	
Business Name (if different from legal name)		
Federal ID # or S.S. #	76-0135291	
Type of Business	Corporation/LLC Partr Sole Proprietor/Individual Tax E	Exempt Organization
Publicly Traded Business	✓ No Yes Ticker Symbol	
Remittance Address	1702 Settega	ast Ranch Rd
City/State/Zip	Richmond	, TX 77406
Physical Address	1702 Settega	ast Ranch Rd
City/State/Zip	Richmond	, TX 77406
Phone/Fax Number	Phone: 281-499-9621 Fax:	281-261-5565
Contact Person	Sterling	g Moore
E-mail	bidding@allgood	construction.com
Check all that apply to the company listed above and provide certification number.	DBE-Disadvantaged Business Enterprise SBE-Small Business Enterprise HUB –Texas Historically Underutilized Business WBE-Women's Business Enterprise	Certification # Certification # Certification # Certification #
Company's gross	<\$500,000	\$500,000-\$4,999,999
annual receipts	\$5,000,000-\$16,999,999 >\$22,400,000	\$17,000,000-\$22,399,999
NAICs codes (Please enter all that apply)	>\$22,400,000	
Signature of Authorized Representative	Mar	
Printed Name	Sterling Moore	
Title	President	
Date	May 22,2018	

# (Rev. December 2014) Department of the Treasury

### **Request for Taxpayer** Identification Number and Certification

Give Form to the requester. Do not send to the IRS.

Intema	Hevenue Service								
	Name (as shown on your income tax return). Name is required on this line     Allgood Construction Co., Inc.	e; do not leave this line blank.							_
	2 Business name/disregarded enlity name, if different from above		***************************************						_
ge 2.	, and a second s								
Print or type Specific Instructions on page	3 Check appropriate box for federal tax classification; check only one of the	e following seven boxes:		4 Exem	ptions	(code	s appl	ly only to	-
e nso	Individual/sole proprietor or C Corporation S Corporation Single-member LLC	ration Partnership	Trust/estate	instruction	ons on	page	3):	uals; see	
ctio	Limited liability company. Enter the tax classification (C=C corporation,			Exempt		0.00			_
Print or type Instructions	Note. For a single-member LLC that is disregarded, do not check LLC; the tax classification of the single-member owner.	check the appropriate box in the	e line above for	Exempli code (if		IFAI	CA rep	porting	
Prir	☐ Other (see instructions) ►			(Applies to a		nelotali	red outsi	de the U.S.)	-
cifi	5 Address (number, street, and apt. or suite no.)	R	equester's name	and addre	ss (opti	onal)			_
Spe	1702 Settegast Ranch Rd								
See	6 City, state, and ZIP code Richmond, Texas 77406								
()	7 List account number(s) here (optional)								_
	7 Los account number(s) here (upitonal)								
Par	Taxpayer Identification Number (TIN)		***************************************						_
Enter	your TIN in the appropriate box. The TIN provided must match the n	ame given on line 1 to avoid	Social se	curity nun	nber				-
backu	p withholding. For individuals, this is generally your social security n nt alien, sole proprietor, or disregarded entity, see the Part I instruct	umber (SSN) However for a	а	7 [	$\Box$	T	T	TT	Ī
entitie	s, it is your employer identification number (EIN). If you do not have	a number, see How to get a		J - L		-			
TIN or	page 3.		or						
Note.	If the account is in more than one name, see the instructions for line ines on whose number to enter.	1 and the chart on page 4 f	for Employer	Identifica	tion nu	ımbe	r		
guidei	mes on whose number to enter.		7 6	-01	3	5	2 9	11	
Pari	Certification					1			_
	penalties of perjury, I certify that:								-
	number shown on this form is my correct taxpayer identification nu	mber (or I am waiting for a r	number to be is	sued to n	ne): ar	ıd			
2. I ar Ser	n not subject to backup withholding because: (a) I am exempt from I vice (IRS) that I am subject to backup withholding as a result of a fai onger subject to backup withholding; and	packup withholding, or (b) I h	have not been i	notified by	v the li	ntem	al Re	venue that I an	1
3. lan	a U.S. citizen or other U.S. person (defined below); and								
	FATCA code(s) entered on this form (if any) indicating that I am exer								
Certifi	cation instructions. You must cross out item 2 above if you have be	een notified by the IRS that	you are current	ly subject	t to ba	ckup	with	holding	
interes	se you have failed to report all interest and dividends on your tax ret paid, acquisition or abandonment of secured property, cancellation	of debt, contributions to an	n individual reti	rement ar	range	ment	(IRA)	and	
genera	lly, payments other than interest and dividends, you are not required tions on page 3.	to sign the certification, bu	t you must pro	vide your	correc	et Tir	V. See	e the	
Sign	T N HA								-
Here	Signature of U.S. person ►	Date >	5/29/18						
	eral Instructions	Form 1098 (home mortga (tuition)	ge Interest), 1098	-E (studen	it loan i	ntere	st), 109	98-T	-
	references are to the Internal Revenue Code unless otherwise noted.	Form 1099-C (canceled di	ebt)						
uture o	developments. Information about developments affecting Form W-9 (such alion enacted after we release it) is at www.irs.gov/fw9.	<ul> <li>Form 1099-A (acquisition</li> </ul>	or abandonment	of secured	i prope	rty)			
	ose of Form	Use Form W-9 only if you provide your correct TIN.							
un Indivi	dual or entity (Form W-9 requester) who is required to file an information	If you do not return Form to backup withholding. See	W-9 to the reque	ster with a	TIN, yo	ou mi	ght be	subject	

which may be your social security number (SSN), individual taxpayer identification number (TIN) which may be your social security number (SSN), individual taxpayer identification number (ITIN), adoption taxpayer identification number (ATIN), or employer identification number (EIN), to report on an information return the amount pald to you, or other amount reportable on an information return. Examples of information returns include, but are not limited to, the following:

- Form 1099-INT (interest earned or paid)
- Form 1099-DIV (dividends, including those from stocks or mutual funds)
- Form 1099-MISC (various types of income, prizes, awards, or gross proceeds)
- Form 1099-B (stock or mutual fund sales and certain other transactions by
- Form 1099-S (proceeds from real estate transactions)
- Form 1099-K (merchant card and third party network transactions)

By signing the filled-out form, you:

- 1. Certify that the TIN you are giving is correct (or you are waiting for a number to be issued),
- 2. Certify that you are not subject to backup withholding, or
- 3. Claim exemption from backup withholding if you are a U.S. exempt payee. If applicable, you are also certifying that as a U.S. person, your allocable share of any partnership income from a U.S. trade or business is not subject to the withholding tax on foreign partners' share of effectively connected income, and
- 4. Certify that FATCA code(s) entered on this form (if any) indicating that you are exempt from the FATCA reporting, is correct. See What is FATCA reporting? on page 2 for further information.

Job No.: _18-069
TAX FORM/DEBT/ RESIDENCE CERTIFICATION (for Advertised Projects)
Taxpayer Identification Number (T.I.N.): 76-0135291
Company Name submitting Bid/Proposal: Allgood Construction Co., Inc
Mailing Address: 1702 Settegast Ranch Rd, Richmond TX 77406
Are you registered to do business in the State of Texas? ✓ Yes No
If you are an individual, list the names and addresses of any partnership of which you are a general partner or any assumed name(s) under which you operate your business
Property: List all taxable property in Fort Bend County owned by you or above partnerships as well as any d/names. Include real and personal property as well as mineral interest accounts. (Use a second sheet of paper if necessary.)
Fort Bend County Tax Acct. No.*  Property address or location**
9960-01-215-0063-901 1702 Settegast Ranch Rd, Richmond TX 77406
6615-01-001-0240-901 6703 Whitehill Ln Richmond,TX 77406
9410-06-006-0210-901 33007 Welney Ct. Fulshear TX 77441
* This is the property account identification number assigned by the Fort Bend County Appraisal District.  ** For real property, specify the property address or legal description. For business personal property, specify address where the property is located. For example, office equipment will normally be at your office, but inventionally be stored at a warehouse or other location.
II. Fort Bend County Debt - Do you owe any debts to Fort Bend County (taxes on properties listed in I above, tickets, fines, tolls, court judgments, etc.)?
Yes No / If yes, attach a separate page explaining the debt.
III. Residence Certification - Pursuant to Texas Government Code §2252.001 et seq., as amended, Fort Bend Courequests Residence Certification. §2252.001 et seq. of the Government Code provides some restrictions on awarding of governmental contracts; pertinent provisions of §2252.001 are stated below:
(3) "Nonresident bidder" refers to a person who is not a resident.
(4) "Resident bidder" refers to a person whose principal place of business is in this state, including a contractor whose ultimate parent company or majority owner has its principal place of business in this state.
I certify that Allgood Construction Co., Inc [Company Name] is a Resident Bidder of Texas as defined in Government Code §2252.001.
I certify that is a Nonresident Bidder as defined in Government Code  [Company Name]  §2252.001 and our principal place of business is  [City and State]
[City and State]



#### Contractor Acknowledgement of Stormwater Management Program

I hereby acknowledge that I am aware of the stormwater management program and standard operating procedures developed by Fort Bend County in compliance with the TPDES General Permit No. TXR040000. I agree to comply with all applicable best management practices and standard operating procedures while conducting my services for Fort Bend County. I agree to conduct all services in a manner that does not introduce illicit discharges of pollutants to streets, stormwater inlets, drainage ditches or any portion of the drainage system. The following materials and/or pollutant sources must not be discharged to the drainage system as a result of any services provided:

- Grass clippings, leaves, mulch, rocks, sand, dirt or other waste materials resulting from landscaping activities, (except those materials resulting from ditch mowing or maintenance activities)
- 2. Herbicides, pesticides and/or fertilizers, (except those intended for aquatic use)
- 3. Detergents, fuels, solvents, oils and/or lubricants, other equipment and/or vehicle fluids,
- 4. Other hazardous materials including paints, thinners, chemicals or related waste materials,
- 5. Uncontrolled dewatering discharges, equipment and/or vehicle wash waters,
- 6. Sanitary waste, trash, debris, or other waste products
- 7. Wastewater from wet saw machinery,

Title

8. Other pollutants that degrade water quality or pose a threat to human health or the environment.

Furthermore, I agree to notify Fort Bend County immediately of any issue caused by or identified by:

Allgood Construction Co., Inc

(Company/Contractor)

that is believed to be an immediate threat to human health or the environment.

May 29,2018

Contractor Signature

Date

Sterling Moore

Printed Name

President



#### **UTILITY & PAVING CONTRACTOR**

## 1702 SETTEGAST RANCH ROAD, RICHMOND, TX 77406 (281) 499-9621 TELEPHONE \* (281) 261-5565 FAX

#### References

Gary Goessler Brown and Gay Engineering 10777 Westheimer Rd. Ste. 400 Houston, TX 77042 281-488-8220

David Linedecker Clay & Linedecker 1350 Ave. D. Katy, TX 77493 281-391-0173

Guy Humphries Costello Engineering 990 Richmond Ave. Ste. 450 North Building Houston, TX 77042 713-783-7788

### **BID FORM**

Item No.	Control No.	Item Description	Unit Measure	Unit Quantity	Unit Price (this column controls)	Total in figures
A.	SITE PRE	PARATION				
1	102	Clearing and Grubbing	STA	85	\$_4,078.00	\$_348,630.00
2	104	Remove Existing Concrete	SY	2,808	\$3.78	\$_10,614.24
3	110	Roadway Excavation	CY	20,625	\$7.56	\$_155,925.0
4	495	Remove & Dispose of Existing Pipes	LF	2,493	\$10.80	\$_26,924.40
5	495	Remove & Dispose of Existing Inlets	EA	11	\$_486.00	\$_5,346.00
6	495	Removing Old Structures	EA	31	\$_486.00	\$_15,066.00
7	500	Remove and Relocate Signs	EA	50	\$_178.20	\$_8,910.00
8	500	Remove and Relocate Mailboxes	EA	13	\$_135.00	\$_1,755.00
9	540	Remove/Dispose of Existing Asphaltic Surface and Base Material	SY	27,076	\$2.38	\$_64,440.8
10	550	Remove/Dispose of Fences	LF	4,554	\$1.62	\$_7,377.48
11	DRAWI NGS 100	Project Identification Sign	EA	2	\$ 621.00	\$_1,242.00
Subtotal Site Preparation						

Item No.	Control No.	Item Description	Unit Measure	Unit Quantity	Unit Price (this column controls)	Total in figures
В.	PAVEME	NT				
12	220	Lime-Fly Ash Stabilized Subgrade (8" Thick)	SY	61,142	\$2.38	\$_145,517.96
13	221	Type A, Hydrated Lime (Estimated at 3% by Dry Weight)	TON	606	\$167.40	\$_101,444.40
14	221	Fly Ash (Estimated at 7% by Dry Weight)	TON	1,413	\$86.40	\$_122,083.20
15	340	HMAC BASE COURSE (8") (BLACK BASE)	TON	391	\$102.60	\$_40,116.60
16	340	HOT MIX-HOT LAID ASPHALTIC CONCRETE (surface course)	TON	95	\$102.60	\$_9,747.00
17	360	Reinforced Concrete Pavement (8" Thick)	SY	56,526	\$42.62	\$_2,409,138.12
18	360	Reinforced Concrete Driveways (7" Thick)	SY	1,458	\$37.80	\$_55,112.40

19	421	Reinforced Concrete Retaining Wall	CY	60	\$_378.00	\$_22,680.00
20	516	Flex Beam Guardrail w/ Mow Strip	LF	270	\$78.01	\$_21,062.70
21	516	Flex Beam Guardrail Terminal Section(Blunt End)	EA	3	\$_486.00	\$_1,458.00
22	530	Concrete Curb	LF	32,899	\$2.38	\$_78,299.62
23	530	Concrete Sidewalk (4 1/2" Thick)	SY	180	\$_43.20	\$_7,776.00
24	530/53 1	Colored Concrete Wheelchair Ramp	EA	26	\$_918.00	\$_23,868.00
25	535	Concrete Median Pavement (6" Thick)	SY	133	\$_64.80	\$_8,618.40
26	536	Coloring Concrete Median (Black)	SY	133	\$5.40	\$718.20
ubtotal Pavement						

Item No.	Control No.	Item Description	Unit Measure	Unit Quantity	Unit Price (this column controls)	Total in figures
C.	STORM S	EWER				
27	429	Trench Safety System	LF	10,689	\$0.11	\$_1,175.79
28	460	24" Reinforced Concrete Pipe, Type III with Rubber Gaskets	LF	2,442	\$ 55.51	\$_135,555.42
29	460	30" Reinforced Concrete Pipe, Type III with Rubber Gaskets	LF	1,817	\$70.75	\$_128,552.7
30	460	36" Reinforced Concrete Pipe, Type III with Rubber Gaskets	LF	1,425	\$94.89	\$_135,218.2
31	460	42" Reinforced Concrete Pipe, Type III with Rubber Gaskets	LF	475	\$_131.23	\$_62,334.25
32	460	48" Reinforced Concrete Pipe, Type III with Rubber Gaskets	LF	2,979	\$_152.44	\$_454,118.7
33	460	54" Reinforced Concrete Pipe, Type III with Rubber Gaskets	LF	262	\$_198.29	\$_51,951.98
34	460	60" Reinforced Concrete Pipe, Type III with Rubber Gaskets	LF	1,096	\$_226.63	\$_248,386.48
35	471	Precast Concrete Manhole (All Depths)	EA	34	\$_2,737.80	\$_93,085.20
36	472	Precast Concrete Type 'A' Inlet (All Depths)	EA	10	\$_1,765.80	\$_17,658.00
37	472	Precast concrete Type 'B-B' Inlet (All Depths)	EA	1	\$_1,679.40	\$_1,679.40

38	472	Precast Concrete Type 'C' Inlet (All Depths)	EA	10	\$_2,397.60	\$_23,976.00
39	472	Precast Concrete Type 'C-1' Inlet (All Depths)	EA	11	\$_2,937.60	\$_32,313.60
40	472	Precast Concrete Type 'C' Inlet (Modified)(All Depths)	EA	12	\$_3,429.00	\$_41,148.00
41	472	Precast Concrete Type 'C-1' Inlet (Modified)(All Depths)	EA	4	\$_3,844.80	\$_15,379.20
42	472	Precast Concrete Type 'C-2' Inlet (Modified) (All Depths)	EA	1	\$_4,509.00	\$_4,509.00
43	472	Precast Concrete Type 'E' Inlet (All Depths)	EA	10	\$_2,430.00	\$_24,300.0
44	480	Concrete Box Culvert (8' X 5')	LF	200	\$_368.28	\$_73,656.0
45	491	Reinforced Concrete Slope Paving (5" Thick)	CY	20	\$91.80	\$_1,836.00
46	493	Broken Concrete Riprap (18" Thick)	CY	265	\$70.20	\$_18,603.0
47	TXDOT 466	WINGWALL (PW-1)(HW=9 FT)(LW=18 FT)	EA	1	\$_18,900.00	\$_18,900.0
48	TXDOT 466	WINGWALL (PW-1)(HW=9 FT)(LW=30 FT)	EA	1	\$_35,100.00	\$_35,100.00
49	TXDOT 466	HEADWALL (CH-FW- 00)(DIA=36 IN)	EA	1	\$_9,180.00	\$_9,180.00
ubtot	al Storm S					\$_1,628,617.0

Item No.	Control No.	Item Description	Unit Measure	Unit Quantity	Unit Price (this column controls)	Total in figures
D.	WATER L	INE				
50	02511	6-inch PVC for marking 18- inch casing	LF	10	\$10.80	\$ 108.00
51	02511	8-inch Diameter PVC Water Line, open-cut	LF	716	\$ 23.25	\$_16,647.00
52	02511	8-inch Diameter PVC Water Line with 16" steel casing, trenchless	LF	70	\$_134.04	\$_9,382.80
53	02511	12-inch Diameter PVC Water Line, open-cut	LF	1,148	\$_31.50	\$ 36,162.00
54	02511	12-inch Diameter PVC Water Line with 20" steel casing, trenchless	LF	75	\$_157.36	\$_11,802.00
55	02511	18-inch steel casing, open-cut	LF	91	\$ 56.16	\$_5,110.56
56	02511	18-inch plug and clamp	EA	2	\$_189.00	\$ 378.00
57	02513	8-inch diameter wet connection	EA	10	\$_162.00	\$_1,620.00
58	02513	12-inch diameter wet connection	EA	2	\$_216.00	\$_432.00

59	02516	Cut, plug and abandon existing 8" waterline	EA	2	\$_378.00	\$756.00
60	02516	Cut, plug and abandon existing 12" waterline	EA	2	\$_378.00	\$756.00
61	02520	Relocate existing fire hydrant	EA	4	\$_1,387.80	\$_5,551.20
62	02520	6-inch diameter fire hydrant branch by open-cut	LF	20	\$10.80	\$216.00
Subtot	al Water L	ine				\$_88,921.56

Item No.	Control No.	Item Description	Unit Measure	Unit Quantity	Unit Price (this column controls)	Total in figures
E.	TRAFFIC	SIGNAL				
63	416- 6032	DRILL SHAFT (TRF SIG POLE) (36 IN)	VF	17	\$ 283.50	\$_4,819.50
64	416- 6034	DRILL SHAFT (TRF SIG POLE) (48 IN)	VF	154	\$_393.75_	\$_60,637.50
65	618- 6046	CONDT (PVC) (SCH 80) (2")	LF	200	\$10.50	\$_2,100.00
66	618- 6047	CONDT (PVC) (SCH 80) (2") (BORE)	LF	130	\$13.65	\$_1,774.50
67	618- 6053	CONDT (PVC) (SCH 80) (3")	LF	95	\$15.75	\$_1,496.25
68	618- 6054	CONDT (PVC) (SCH 80) (3") (BORE)	LF	490	\$15.75	\$_7,717.50
69	618- 6058	CONDT (PVC) (SCH 80) (4")	LF	40	\$21.00	\$840.00
70	618- 6059	CONDT (PVC) (SCH 80) (4") (BORE)	LF	590	\$17.85	\$_10,531.50
71	624- 2014	GROUND BOX TY D (162922) W/APRON	EA	6	\$_997.50	\$_5,985.00
72	624- 6021	GROUND BOX TY 2 (243636) W/APRON	EA	2	\$_2,100.00	\$_4,200.00
73	682- 2066	DURALIGHT - PEDESTRIAN COUNTDOWN MODULE JXM-400 VIEIL 16" X 18" PED LED	EA	16	\$_262.50	\$_4,200.00
74	682- 2066	MCCAIN - PEDESTRIAN HOUSING M31826 PED SIGNAL HOUSING; COLOR SHALL BE BLACK	EA	16	\$367.50	\$_5,880.00
75	682- 2022	VEH SIG SEC (12 IN) LED (GRN ARW) **	EA	8	\$_231.00	\$_1,848.00
76	682- 2023	VEH SIG SEC (12 IN) LED (GRN) ***	EA	16	\$_231.00	\$_3,696.00
77	682- 2024	VEH SIG SEC (12 IN) LED (YEL ARW) **	EA	14	\$_231.00	\$_3,234.00
78	682- 2025	VEH SIG SEC (12 IN) LED (YEL) ***	EA	16	\$_231.00	\$_3,696.00

79	682- 2026	VEH SIG SEC (12 IN) LED (RED ARW) **	EA	10	\$231.00	\$_2,310.00
80	682- 2027	VEH SIG SEC (12 IN) LED (RED) ***	EA	16	\$_231.00	\$_3,696.00
81	682- 6023	BACK PLATE (12")(3 SEC)	EA	16	\$_84.00	\$_1,344.00
82	682- 6024	BACK PLATE (12")(4 SEC)	EA	8	\$105.00	\$_840.00
83	684- 6007	TRF SIG CBL (TY A)(12 AWG)(2 CONDR)	LF	3,385	\$1.16	\$_3,926.60
84	684- 6009	TRF SIG CBL (TY A)(12 AWG)(4 CONDR)	LF	3,465	\$1.47	\$_5,093.55
85	684- 6012	TRF SIG CBL (TY A)(12 AWG)(7 CONDR)	LF	7,690	\$2.31	\$_17,763.90
86	686- 6047	INS TRF SIG PL AM(S) 1 ARM (44') LUM	EA	1	\$_10,500.00	\$_10,500.00
87	686- 6055	INS TRF SIG PL AM(S) 1 ARM (50') LUM	EA	2	\$_24,150.00	\$_48,300.00
88	686- 6059	INS TRF SIG PL AM(S) 1 ARM (55') LUM	EA	4	\$_25,200.00	\$_100,800.00
89	686- 6067	INS TRF SIG PL AM(S) 1 ARM (65') LUM	EA	1	\$_25,725.00	\$_25,725.00
90	687- 2001	PELCO - PED POLE ALUMINUM PB-5100 SERIES	EA	6	\$_1,575.00	\$_9,450.00
91	688- 6001	PELCO - AUDIBLE PED PUSH BUTTON SE-2900- P29 APS INTELLI-CROSS	EA	16	\$_945.00	\$_15,120.00
92	680- 6002	INSTALL HWY TRF SIG (ISOLATED)	EA	2	\$_39,391.80	\$_78,783.60
93	6114- 6001	ECONOLITE - WIRELESS MAGNETOMETER DETECTION SYSTEM ACCUSENSE	EA	2	\$_43,732.50	\$_87,465.00
94	6061- 6001	EMERGENCY PRE- EMPTION - GLANCE - INCLUDED W/AI-500-85 FMU	EA	2	\$_6,510.00	\$_13,020.00
95	620- 2011	ELEC CONDR (NO. 8) BARE	LF	1,175	\$1.26	\$_1,480.50
96	620- 2008	ELEC CONDR (NO. 4) BARE	LF	230	\$2.10	\$_483.00
97	620- 2008	ELEC CONDR (NO. 4) INSULATED	LF	455	\$2.10	\$955.50
98	621- 6005	TRAY CABLE (4 CONDR) 12 AWG	LF	2,680	\$1.79	\$_4,797.20
99	628- 2100	ELC SRV TY D 120/240 070 (NS)SS(E)SP(O)	EA	2	\$_6,090.00	\$_12,180.00
100	628- 2244	ELC SRV TY T 120/240 000 (NS)SS(N)SP(U)	EA	1	\$_5,775.00	\$_5,775.00
101	644- 6075	RELOCATE SM RD SN SUP & AM (SIGN ONLY)	EA	4	\$70.20	\$280.80

102	644- 6076	REMOVE SM RD SN SUP & AM	EA	13	\$59.40	\$772.20
103	666- 2003	REFL PAV MRK TY I (W) 4" (BRK) (100MIL)	LF	2,490	\$0.56	\$_1,394.40
104	666- 2012	REFL PAV MRK TY I (W) 4" (SLD) (100MIL)	LF	300	\$0.59	\$177.00
105	666- 2036	REFL PAV MRK TY I (W) 8" (SLD) (100MIL)	LF	1,050	\$1.06	\$_1,113.00
106	666- 2048	REFL PAV MRK TY I (W) 24" (SLD) (100MIL)	LF	1,610	\$5.07	\$_8,162.70
107	666- 2096	REFL PAV MRK TY I (W) (WORD) (100MIL)	EA	10	\$135.00	\$_1,350.00
108	666- 2054	REFL PAV MRK TY I (W) (ARROW) (100MIL)	EA	13	\$129.60	\$_1,684.80
109	666- 2069	REFL PAV MRK TY I (W) (DBL ARROW) (100MIL)	EA	2	\$182.52	\$ 365.04
110	666- 2188	REF PAV MRK TY II (Y) (MED NOSE)	EA	230	\$1.03	\$ 236.90
111	672- 6010	REFL PAV MRKR TY II-C-R	EA	135	\$3.51	\$_473.85
112	677- 2001	ELIM EXT PAV MRK & MRKS (4")	LF	1,470	\$0.41	\$_602.70
113	677- 2003	ELIM EXT PAV MRK & MRKS (8")	LF	550	\$0.70	\$385.00
114	677- 2007	ELIM EXT PAV MRK & MRKS (24")	LF	350	\$2.11	\$738.50
115	677- 2008	ELIM EXT PAV MRK & MRKS (ARROW)	EA	7	\$_32.40	\$_226.80
116	677- 2018	ELIM EXT PAV MRK & MRKS (WORD)	EA	7	\$32.40	\$_226.80
Subtota	al Traffic	Signal				\$ 590,655.09

Item No.	Control No.	Item Description	Unit Measure	Unit Quantity	Unit Price (this column controls)	Total in figures
F.	TRAFFIC	CONTROL				
117	665	Work Zone Pvmt Mkgs - Non- Remov (W) 4" (SLD)	LF	3,583	\$0.28	\$_1,003.24
118	665	Work Zone Pvmt Mkgs - Non- Remov (Y) 4" (SLD)	LF	3,311	\$0.28	\$_927.08
119	665	Work Zone Pavement Markings 4" White/Solid (Removable) Furnished - Applied & Removed	LF	11,823	\$0.52	\$_6,147.96
120	665	Work Zone Pavement Markings 4" Yellow/Solid (Removable) Furnished- Applied & Removed	LF	16,782	\$0.52	\$_8,726.64
121	671	Traffic Control - Barricades, Barriers, Barrels, Cones, and	МО	12	\$_2,332.80	\$ 27,993.60

		Signing				
122	672	Traffic Button Ty W	EA	303	\$2.43	\$736.29
123	673	Auxiliary Pavement for Constructing Detours (8" Black Base)	TON	854	\$102.60	\$_87,620.40
Subtota	l Traffic	Control				\$_133,155.21

Item No.	Control No.	Item Description	Unit Measure	Unit Quantity	Unit Price (this column controls)	Total in figures
G.	SIGNING	AND STRIPING				
124	624	Aluminum Signs (Ground Mounted)- Furnish & Install	EA	4	\$_312.12	\$_1,248.48
125	660	Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Dashed - Furnish & Applied (15' over 40')	LF	16,219	\$0.65	\$_10,542.35
126	660	Reflectorized Pavement Markings - Type I (4") (WHITE) (SOLID)	LF	316	\$0.59	\$186.44
127	660	Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied	LF	824	\$0.57	\$_469.68
128	660	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	LF	1,092	\$1.06	\$_1,157.52
129	660	Reflectorized Pavement Markings Type I (12")(YELLOW)(SOLID)	LF	311	\$2.16	\$ 671.76
130	660	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied	LF	970	\$_4.98	\$_4,830.60
131	660	Reflectorized Pavement Markings Type I (Thermoplastic) Word "ONLY" - Furnish & Applied	EA	14	\$_127.44	\$_1,784.16
132	660	Reflectorized Pavement Markings Type I (Thermoplastic) Single Arrow- LEFT - Furnish & Applied	EA	14	\$_118.80	\$_1,663.20
133	663	Reflectorized Pavement Markers - Type 1-C	EA	304	\$3.51	\$_1,067.04
134	663	Reflectorized Pavement Markers Type II-C-R - Furnish	EA	54	\$4.32	\$_233.28

# Gaston Road From Katy Flewellen Road to Greenbusch Road Fort Bend County Mobility Improvement Project #13311

BID 18-169

		& Install				
135	663	Reflectorized Pavement Markers Type II-A-A Yellow - Furnish & Install	EA	41	\$4.32	\$_177.12
136	663	Curb Paint for Median Noses (Yellow)	LF	709	\$0.95	\$_673.55
Subtotal Signing and Striping						\$_24,705.18

Item No.	Control No.	Item Description	Unit Measure	Unit Quantity	Unit Price (this column controls)	Total in figures	
Н.	SWPPP						
137	162	Block Sodding (16" Behind Curb)	SY	5,433	\$3.51	\$_19,069.83	
138	165	Hydromulch Seeding	AC	8	\$_1,350.00	\$_10,800.00	
139	713	Reinforced Filter Fabric Barrier	LF	17,298	\$1.35	\$_23,352.30	
140	719	Inlet Protection Barrier	EA	93	\$_48.60	\$ 4,519.80	
141	724	Stabilized Construction Access (TY I)	SY	900	\$10.80	\$_9,720.00	
142	741	Inlet Protection Barrier (Stage II Inlets)	EA	39	\$10.80	\$ 421.20	
143	750	Rock Filter Dams (Type 2)	LF	80	\$27.00	\$ 2,160.00	
144	751	SWPPP Inspection and Maintenance (Min. Bid - \$6,000/month)	МО	12	\$_6,000.00	\$_72,000.00	
Subtotal SWPPP							

Item No.	Control No.	Item Description	Unit Measure	Unit Quantity	Unit Price (this column controls)	Total in figures
I.	EXTRA IT	ГЕМЅ				
145	421	Concrete Protective Slab for Pipeline Protection	CY	96	\$_315.36	\$_30,274.56
146	672	Off-duty uniformed local law officers	HR	500	\$_37.80	\$_18,900.00
ubtot	al Extra Ito	ems				\$_49,174.56

#### NOTE:

(1) Minimum Bid Price determined prior to bid can be increased by Bidder by crossing out minimum and noting the revised price in the appropriate box.

### TOTAL BID PRICE:

\$ 6,349,143.41

(Add Totals for Items A., B., C., D., E., F., G., H., and I. above)

2.0 SIGNATURES: By signing this Document, I agree that I have received and reviewed all Addenda and considered all costs associated with the Addenda in calculating the Total Bid Price.

Allgood Construction Co., Inc Bidder: (Print or type full name of your proprietorship, partnership, corporation, or joint venture.\*) 5/29/18 \*\*By: Signature Date Sterling Moore President Name: (Print or type name) Title 1702 Settegast Ranch Rd, Richmond TX 77406 Address: (Mailing) 1702 Settegast Ranch Rd, Richmond TX 77406 (Street, if different) 281-499-9621/281-261-5565 Telephone and Fax Number: (Print or type numbers)

- \* If Bid is a joint venture, add additional Bid Form signature sheets for each member of the joint venture.
- \*\* Bidder certifies that the only person or parties interested in this offer as principals are those named above. Bidder has not directly or indirectly entered into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding.

Note: This document constitutes a government record, as defined by § 37.01 of the Texas Penal Code. Submission of a false government record is punishable as provided in § 37.10 of the Texas Penal Code.

BID WILL BE AWARDED ON THE BASIS OF THE TOTAL BID PRICE SHOWN ON THIS PAGE.

**END OF DOCUMENT** 

# **CERTIFICATE OF INTERESTED PARTIES**

FORM **1295** 

of 1

					1011		
	Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.		CE	OFFICE USE ONLY CERTIFICATION OF FILING			
1	Name of business entity filing form, and the city, state and count of business.	ry of the business entity's place		Certificate Number: 2018-356382			
	Allgood Construction Company, Inc.		201	0-330302			
	Richmond, TX United States		Date	Filed:			
2	Name of governmental entity or state agency that is a party to the	contract for which the form is	05/2	21/2018			
	being filed.						
	Fort Bend County			Date Acknowledged: 06/12/2018			
			10000000	1)			
3	Provide the identification number used by the governmental entit description of the services, goods, or other property to be provid	ify the c	contract, and pro	vide a			
	B18-069		9				
	Construction of Improvements to Gaston Road from Katy Flew	vellen Road to Greenbusch Road	i 				
4	Name of Interested Party	City State Country (along of house		100000000000000000000000000000000000000	of interest		
	Name of Interested Party	City, State, Country (place of bus	iness)	(check ap			
				Controlling	Intermediary		
	· ·						
	7						
-							
_							
_							
5	Check only if there is NO Interested Party.						
6	UNSWORN DECLARATION						
	My name is	, and my date	of birth is	S	·		
	My address is						
	(street)	(city)	(state)	(zip code)	(country)		
	I declare under penalty of perjury that the foregoing is true and correct.						
	Executed inCounty,	State of, on th	e	day of	, 20		
	· · · · · · · · · · · · · · · · · · ·			(month)	(year)		
	Signature of authorized agent of contracting business entity (Declarant)						